plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series N Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 5th Edition (2014) Florida Building Code
(FBC) structural requirements including the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

When used in the "HVHZ" this product is required to be protected with an impact resistant covering that
complies with Section 1626 of the FBC.

When used in areas outside of the "HVHZ" requiring wind borme debris protection this product is required
to be protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x buck
masonry construction.

Site conditions that deviate from the details of this drawing require further engineering analysis by a
licensed engineer or registered architect.

Outswing configurations meet water infiliration requirements for "HVHZ".
Inswing configurations do not meet the water infiltration requirements for the "HVHZ". Inswing units shall

be installed only in non-habitable areas or at habitable locations protected by an overhang or canopy
such that the angle between the edge of canopy or overhang to sill is less than 45 degrees.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevation, design pressures, & general notes
Door panel details
Horizontal cross sections
Vertical cross sections
Buck and frame anchoring - 2X buck masonry construction
Frame anchoring - 1X buck masonry construction
Bill of materials & components

N[O A(W(N

37.50" MAX. OVERALL
FRAME WIDTH

81.63" OVERALL FRAME HEIGHT - INSWING
80.50" OVERALL FRAME HEIGHT - OUTSWING

INSWING

3750
X +50.0
81.63"

-50.0

n
o
n
)
%f’)
__l'\
L)
P
£ ga
ST
J 0o
3.9
\ -
W £en
% O N -
o
- © O Xz
o T z Q
t§ Eo FOo
nﬁg —'-S
E(/)n 59c¢
¢ Do
e
o
e ¢
£ §2 §
50 .
g su
o o

FBPE C.A. No. 9813

OUTSWING

37.50"

X +50.0
80.50"

-50.0

0
==
So
(L{)JZ
o Q-
S8 &
£a S%
ownly =
xO| 5 <©
] |
—J
agla =,
%]
Ll ¢n L)
o< Fx
3 ol & &
o g
o b Q-
x < a
o o
Slo
8
[
3
)
NIEN(%)
=
o O
Y ;
< £
il
o
p
<
(&)
a
)
D
L
N=
QS
By
O O
_lo
z
oaTE: 02/20/12
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15220.6

SHEET 1 ofF /

R:AClients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6-10.dwg, FL-15220.6

© 2012 R.W. BUILDING CONSULTANTS INC.



35.75" MAX.
DOOR
PANEL WIDTH

P

79.25" MAX. DOOR PANEL HEIGHT

e —

NN

=
=

3

=

| —1
]

|

|
|

|~

q

. DOOR PANEL

LATCH / HINGE STILE 49 LATCH & HINGE STILE
Cellular pvc Reinforcement

SEE
HARDWARE
CHART

INTERIOR

EXTERIOR

/" 2"\ HORIZONTAL CROSS SECTION

L— 1.59" ———}

~—1.59" —=]

LOCK BLOCK
20"Long

1.22"

I<— 1.59" 4-1

T<—’-1— 81"

1.39" &

159" -

LOCK:

SIGNATURE SERIES

KWIKSET | DEADBOLT:  SIGNATURE SERIES 780
AL LOCK:  YH COLLECTION

DEADBOLT:  YH COLLECTION (80 SERIES)

TOP RAIL
Cellular pve

BOTTOM RAIL
Cellular pvc

7“1\ VERTICAL CROSS SECTION

\2/

0
o
0
]
o™
Z
£ N
Lo
n .
£82
2@
'_—
T Do®
3>n'03
\ g.‘—.
Owo
y  8Ris
s B o x2<
$Ep Z0q°
g 9@ o o
a £0 _J'CUJ
qu- =Zpon
n_(!)n 2 LM
¢ Daodw
PN
o
OCZ
0
ggu @%
a 2
3
(v =
.O <
oS o
Z0 o
Nl., —
9| m@
aSla £
l—Q)E(
welal &
SLLl&D:
oDz o
e “lo 8
o
8 (@]
o &
14 <
o a
Sio
(2]
=z
-
0
ol
oz

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

NO,| DATE

oaTE: 02,/20/12

scalE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15220.6

SHEET 2 oF 7

RAClients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6-10.dwg, 1-2

© 2012 R.W. BUILDING CONSULTANTS INC.



1-1/4" MIN.

EMB. (TYP.)

15"
— | |=— C-SINK
CC%C? (TYP.)

P

W

®

INTERIOR

EXTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

O,

\y Outswing shown - inswing
also approved

SOV

A

INTERIOR @ oo

N

Z AN
\///,{//\‘

N

) AW
Y

1-1/4" MIN.

EXTERIOR

EMB. (TYP)
1 .
b
al
-y
N .
: D
IN 4 s
o 4
L -
s |
4 Y . D‘
AR
\ ,
-9
Y [
A A' B
R
. .
AL
1Y
b l:.v 4
4 o ’
a. >
D
<
IN .
4 | .
) IS
s 4

g@b

m HORIZONTAL CROSS SECTION

w Shown w/1X sub-buck

INTERIOR

EXTERIOR

)
7 W
N

15"
C-SINK —» |om—

(TYP.)

/

nk
N
N (M

00 ',’ ‘;

.V A
(19 o.

7“2\ HORIZONTAL CROSS SECTION

w Outswing shown - inswing
also approved

®

=

®
®

0
o
0
)
g!")
£ N
i3
ao
Z 0
e <=2
SRR
3 )
D go.ﬂ .
[+
¥ 8RriL2
o' .
NEREEIE
N
NE Ea FE®@ 0
N[ 58 2558
W|Ead 598&
R Mmoo b
S un
t 0o
6 c> §
0
S 3 e<
8 2a
5]
=
o
S
o
sy @
S
ZQ n
w
O R%! I
& 0l > £
&5&3 O
6 ols|
5D:u =
Ll v [
QQ\JU} =
o NS
x
S o x
1-1/4" MIN. 2 £ e
EMB. (TYP.) & g
x>
n
bA
B
1Y N LL‘
R -
R ~+
. h
2" N3 ®
. IN T =
N , 5 @
, A
e
a o
S
N a
. D
S
0
Lk
=
IS N <€
a NE
O 0
: _lo
4 [ prd
£ DATE: 02/20/12
scale:  N.T.S.
[y
4 DWG. BY: JK
CHK. BY: LFS
[N [
. DRAWING NO.:
4
FL—15220.6

SHEET 3 oF 7/

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6-10.dwg, 1-3

. © 2012 R.W. BUILDING CONSULTANTS ING.



"ON| SINVIINSNOG aNiagung

M Z10Z O

€186 'ON 'vO 3daid SNOISIATY
L616°6S9°CL8 FON 8uoyd Ad 31vd [ONfoN| © I
"ONI ‘SINVLINSNOO ONIaIng g XTEWNISSY 80 1dvd Q= T8
1 ¥004 SSV19438H NI ER >
e, 60¥SY "ON ‘3'd ONI 04dLSV1d o|_|&|&lg |,
S 7, WPIUUSS "4 UOPUAT eI
s Wn:Ag peipdeld sjuewinooq 110Naoyd HEREIE &
; L& S22 A
ixZ 7 m\
P eO¥EFON ¢ =
N s S
7 S
\\\\\\ s:om /////
Hippnw
(dAL) gw3 _, -
mnu NIW P/ L-L
o (=] \\4\
E ™ N i v
- ("dAL) "aw3 Z s
NIW./1-1 L
./\/ — : S v >
. RAE B
v R AN X [
; NS o Q
S Qs
. Q5
. [ 1=]
(%4 (@] ..W
O L |
= o <| 3
e O m o)
Z Z v Els
“= O ¥ W W
= > >
| 2 o
17 1%
Q3
Qs
Qc ol v
(811 :
< = B R
= .
| g2 e
[a% = 2z o B
O rfe
= >S5
=
@
(dAL) "aw3
NIW ¥/ 1-1
oz
S = @) =
%l O o o
n— L [
E 5 = Q
Zl w2 £ &S
= al 9
S g alo
v|.& 0Oz
Qle &2
o
o 20 Ol c
be =8
M e << (0]
R |25 =S
B2 A
W oa . >0
>0T a
GO o @
o
) o A
E 3 ndh
= &S
("dAL) 'aW3
NIW ./1-1

-1 'BMp0T-9°0ZZST-14\MuaLND\sBuimesq - D\OZZST-14\slenoiddy 1onpoid BpLOIA\LNINYINYI Ul ‘'Odise|d\sIualD\y



MASONRY -
OPENING

2X BUCK
N\
N

TYP. HEAD
& JAMBS

19" MAX
O.C. (TYP)

CONCRETE ANCHOR NOTES:

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6-10.dwg, 1-5

BUCK ANCHORING

edge distance to mortar joints.

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
3. Concrete anchor table:

Imw

1apcon® | V4 1-1/4° r 4
ELCO " n " "
uttRaconN® 1/ 1-1/ L 4

WOOD SCREW INSTALLATION NOTES:

wood screws to prevent the splitting of wood.

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

40.125"

i‘
= o-oj

5.5 ﬁ

STRIKE JAMB

\
\\\\\ . mesete-.
0 g
~ NS 10
. . ISy 3 G R
., S8 A e & :I:’ > z
. R T _1“ zoig L5
ey 1 =293 2 Ega
4 - % O m
o e * ALY zean
- ,/ .. oA ':l CEX
e — T - /, “teefane- \\ 5 > ¥ [+ ]
g . o~ /// ) \\ 0V - .
a N = Ill[ \\\ g 'C‘)'J © Zo
M © E] L 838..
A TYP. HEAD i Wesg ox2d
e & JAMBS Nt Eoa 500
(0 N 9o B8 cuw
NIE8Y 59288
— — : £0% Boil
MASONRY . 82U,
OPENING ~ e § cS §
- 3 0.
g cul @<
o Jo.
— — R e . ><
FRAME Zg
\ [ 3—“ D%@
. xl Sg@
29 3o
=0 ==
a— — — ° Q wn . (8
2X BUCK . & % M ow
0 ) A Siq =
> o in noOls| <X
N & 5 28 B2
_E U © amln %)
] . ol< 2%
] 3 O xS
o] 2 2 53
N -5 E j \ o aj m
AV"_ B o y - S|
e [04]
S s [}
< ”4 E
L .v o~
L.l S
' NI
Zz
FRAME ANCHORING HINGE JAMB sl e
Masonry 2X buck constfruction - 2
o &
e
e
3
5
//
/ o
NN
=
(10 aE
[ o ’ e
- o =z
T &
>@ @DZ bATE: 02,/20,/12
scaLte:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
,I ll DRAWING NO.:
LATCH & DEADBOLT DETAIL HINGE DETAIL FL—15220.6

SHEET 5 ofF 7

© 2012 R.W. BUILDING CONSULTANTS ING.



//
@1 ©
e
/4
HINGE DETAIL

CONCRETE ANCHOR NOTES:

/
7
LATCH & DEADBOLT DETAIL

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

_____ R AN T ETERREE
TO MASONRY
W . - . .
TaPcON® | 174 1-1/ 2 4
ELCO } . . "
uttracon®  V/ 1-1/ 1 4
lTw n " 1] - "
Apcon® | 316 1-1/ 3 1-1/2

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

S
1
TE.
in
o)

-+
STRIKE JAMB

\\ N
\\\\\ * I’//
\\ YY) & //
N S A <Y
\\ '-' ". /’ s}
&7, [
- :' & - . "
= I: 4 g S. 'é:% "
= Ogg ¥ X RN
el £ PEOSLgs
-~ S K B L)
7 D oS Eieg
/// "-~-...--"‘D \\\\ 8 > 8o
r /, ‘k ) v .
L . R . < / \ Z o w O
. ‘., . E PR ‘/6 - ’l[“,“ \\\%‘ 8R':z
e — W ¥ g323
N ! ml * N B f£2 5%,
. \ 3§ 6% Zgoa
e J | - £ Vo 599Qcfm
v . 2 ¢+ Dooo
m&» % gg ™ 5
ok ER— L
. J )TYP.HEAD . 3 Tu <
< & JAMBS a 2
) <
MASONRY7A o S,
OPENING - R of B8
o QO ><O
20 -
=9 =
fsnsamast - [@X%] =W
. =2
FRAME g% g %8
N\ | 22l3 3
(! SE8 Sy
5 @) <=
b - @ Y3
Q §<
— . 2 o &=
1X BUCK — Q 'g(? L
\ é é Z'{J’ o o
= —
% J ? &
INSWING —_— ° |
N e (&)
Sy m
S OUTSWING Ej -
'ﬂv . ] . . 5
S TYP. @ SILL . . g
o 2 =
N « T =
= - | e 2O [
v ""v“ v quv qv\ g g
e q° =
g a E
FRAME ANCHORING HINGE JAMB Qg_
Masonry 1X buck construction =
[p]
N
Sk
ED
—lo
z
DATE: 02/20/12
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15220.6
SHEET _6 OF 7

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL—15220,6-10‘dwg‘, 1-6

© 2012 R.W. BUILDING CONSULTANTS INC.



BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL

A | 1XBUCKSG >=0.55 WwOOD

B | 2XBUCKSG >=0.55 WOOD

C | 1/4"MAX. SHIM SPACE -

D |1/4"X2-3/4"ELCO OR ITW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

G |3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

H |1/4"x3-1/4"PFH ELCO OR ITW CONCRETE SCREW STEEL

| 1/4" X 2-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

J |1/4"X3-3/4"PFH ELCO OR ITW CONCRETE SCREW STEEL

K [#9X2-1/2" PFH WOOD SCREW STEEL

L | #8X2-1/2' PFH WOOD SCREW STEEL

M | #8 X 2" PFH WOOD SCREW STEEL

N |1/4"x3-1/4" PFH ITW CONCRETE SCREW STEEL

7 | FORCE 5 WEATHERSTRIPPING BY ENDURA -

8 | COMPRESSION WEATHERSTRIP QLON 650 BY SCHLEGEL

9 | 4"X4"BUTT HINGE STEEL
10 | #9 X 3/4" PFH WOOD SCREW STEEL

11 | #9 X 3/4" PFH WOOD SCREW STEEL
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD

21 | POLY FIBER JAMB COMP. / VINYL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT PLATE STEEL
29 | OUTSWING THRESHOLD BY DLP ALUM./WOOD
30 | INSWING VINYL DOOR BOTTOM SWEEP VINYL
33 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -

41 | DOOR SKIN (MIN. 0.069" THICK) BY PLASTPRO FIBERGLASS
42 | TOP RAIL CELLULAR PVC
43 | LATCH & HINGE STILE CELLULAR PVC
45 | BOTTOMRAIL CELLULAR PVC
46 | POLYURETHANE FOAM BY PLASTPRO POLYURETHANE
49 | LATCH AND HINGE STILE REINFORCEMENT WOOD
50 |LOCKBLOCK (20" X 1.385") WOOD

75"

1.2

l-'—— 2.36" ->l

HEAD & SIDE
Jamb

4.56"

|
0.75"

1.25"

244" !

HEAD & SIDE
Poly fiber jamb

456"

M

G

1.38

33 }ADRJUSTABLE INSWING THRESHOLD

4.56"

~— 203" —~]|

29

[~—1.75" -——]

OUTSWING THRESHOLD BY DLP

’
//,,'“"k' \n

%

722/

0
o
0
)
oM
z
=
Lo
2 sa
[
Z 0.
La
Sty
2980
3\\‘ )
\\ Zov-
w 6§a®
5-.“ ONS
312 28°%
5§ Eoa F0o
$6% 2456
fom 25Qc¢
R Mmoo
8w
E _o
o
3 B, e<
8 2

FBPE C.A. No. 9813

PLASTPRO INC.
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

K
BY

1 [04/22/75 [UPDATE TO 5TH ED. (2014) FBC

REVISIONS

e
<
a
o
z
2

OATE: 02/20/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15220.6

SHEET 7/ oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.

R:A\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15220\C - Drawings\Current\FL-15220.6-10.dwg, 1-7



